ar = FiE REB
HA | N A PR N I W
7547 | ek E (D | & |[12762 -1.0] 2 [12736 03] 4
100n (55501 A B (D [ BIE= 12770 07| 2 [17762 0.3] 7
1625 @R _me() | WE 1370207 4
2547 ¥k MRE (D | /B [24785 +2.0] 1 2454 :0.3] 2
200m [1625] R RE (M | WLF  [25769 +0.3] 4
1162 [ KiFeH#HF (1) IR RS DNS
T A ON D I 5 T
400m [1162] ABEAHT (1) | BEE 56786 | 2 | 58704 | 6
1253 MR EF () | EiE | 5062 | 2 | 10071 | 8
3612| AH =R | ABEZE | 22000 [ 2 [ 22276 [ 7
800m [1165] EM &g () | EEE | 21801 | 2 | 217767 | 3
B PE AR | G 7720716 | 3 | 219700 [ 4
614 £ EA(D | ABEFE 720700 | 3
1500m [1165] B _HT (1) | HEEH 74707 [ 9
3616] e B () | BEZE 1734758 | 4
3614 £3 ZA) | BEZE 362 [ 2
3000m 3615 @k BEE() | BEFHE 9" 45783 5
2906 [ Bell MBE(D | ABT 1009751 | 8
1626 AM PIZE() | LT [ 14756 +1.0] 1 [14°82 +0.5] 5
100nH [1235| E@ &5 () | _mE __[16711 +0.1] 3 |15701 0.5] 7
908 [ =N e () | AR [ 14764 +1.9] 2 [14755 +0.5] 1
1235 BB _&E() | EH T06766 | 2 | T 0606 [ 5
400nH [ 728 [ tak Zl () | IBE 0769 | 2 [ 1707764 | 1
34 IIE BEMN | MEL | 10882 | 3
a5 i EE() | Bfs 7537759 [ 2
5000mW [T479 | 680 BN | BEE 2655723 | 3
1594 /8 BEM() | hEiE 27728783 [ 5
5563 | mE7477- () | BB a7 | 11
EEM (1T0] AE BR0) | BEE 50| 9
1247 LA B=(1) | EHE b6 | 4
|98 | mEm(O)| mEE Mo
BE% T AREEED H 3m00 7
797 [ 2E() | BAESE om0 [ 5
242 | HE  {RMEQD) A 5m07 0.5 | 8
FEfEHk (6561 2T =wE() | @WINE= 5m02 0.6 | 11
D4 R EE0) | EH 5m32 70 7| 3
2546 Bl ®E(M | NG Tomb0 1.2 13
=g [1254] RMBERZ (1) | MEE Tom29 +0 8] 15
33 [ BLbr 3 1) | EBRE omg6 +1.9 | 18
1172 k3 e () | em Tin7s | 3
iR 225 [ WA #x0) hElE Om21 13
200 [l B () | HAZ m9s | 8
226 | MABRE (1) | ik 28m67 | 12
A% (1172 xF #KIEA) IR RS 37m80 2
o7 [MA mrRl ] BE 35mi3 | 6
225 IJ.IZK & () e 39md4 1
-1 (1806 R _FEBM | B/ & 36T | 4
226 | AEXRE (1) e 38m78 2
5564 FEEEE (D | BB 35m4 | 5
Py [3182[ M Y1) | HER 330 [ 6
700 BB &) | BB Jmas_ | 2

N

A = FiE R
HE | No ok ik T8 [EE| 55 [EE
617 ®B® | WFE 1741 T3] 1 (12702 15[ 1
100m 154 mE 250 | BBE DR
367 | T2 FiF () | EBWE (17759 0.4] 2 [12760 1.5] 8
6178 FW@ | LT DS
200m [246 |8  E@ () | TBE=m 25783 +1.4] 4
1154] sTE &% (2) | Mykm (26733 +1.4] b
1153 8 2 () | eks DS
doom [246 T8 B@ (| deE-m | b7 | 7| 6% | &
B LEEES Q) | E 5776 [ 1 [ 5672 [ 3
3036 [ A EE@F (D) | EE 71887 [ 4 [ 71702 | 4
800m [1610] FE Be() | LT 271611 [ 3 [ 2241 [ 7
%68 B8 BT | BB 719747 [ 3
3604 AL E Q) | BBEZE 70098 |
1500m | 3603 [ /IM#k B2 | BEZHE 424751 3
B0 A FQ | =& 72797 | 8
3604 BAShE Q) | BEZE 2328 [
3000m [3603 [ /NEk _ BA(2) | ‘AEEEEE 0443 [ 4
2901 | EREEA Q) | BT 954758 [ 6
616] &4 =B ()| LT [14°96 +0.8] 2 [14°82 0.3] 4
100mH [1224] %k AF () | _mE 15722 0.9] 4
4076 [ 1818 EMH (2) L] 15785 2.7 4
1153 0% &/ () | BHEE | 10220 | 1 | 170704 | 2
400nH [3037[ 2 &) | &M@ 1702769 | 1 | 70180 [ 2
2137t _BEQ) | BERmA] 10328 | 3 | 10314 | 5
1470| BEADY () | RES e
000l o T iE BE Q) | BERAE 75 41741 | 5
3428 Bl RE (D | JIFERE 28700725 [ 10
244 [ HIBEM() | LE=@ T 7
EEH [3086] BILUMS (D) | BER w6 [ 8
1574] il B(2) | hfiE m53 [ 10
366 | =8 Bk (D) | EBAE 0 | 3
BEN[ 74 M =0 | BaA a0 [ 6
364 | A 52 | EBXE 3m20 5
1874 L0 REQ | ER 5 0.7 | 3
EIER (1204 AT A7 (0 | EE 5mT8 0.5 | 11
2536 @& TFTEQ) INEF m28 +0.7 [ 7
1141 BM 522 | MR 1Tm09 +0.7] 9
B R O Tom69 +0. 7] 12
3086 [ BILOA S (2) | BT Tom91 +1. 8] 11
5554 BlE ZR (D | BIES T2 | 7
raaE[1160] Hr &HEQ IR RREE m65 5
3TN _BAE Q) | mERL ni3 | 8
5555 BA ®E (D) | BB 3am96 [ 9
M8 (1161 | BARAT Q) | BBE James [ 11
23T/ BE Q) | mERL T
50| 8 %42 | WBBE am0d [ 5
nR-12 [2540] BE RAQ | AT amiz | 4
1398] fas BZ=(2) | MOBA 3ami2 | 16
5554 BIE 2R (D | BIE— aom2s [ 1
vy [TI04] Ak ZBQ) | Bb 38m36 | 4
160 BE 222 | BEH 3mis_ | 5




